T3 ERENXTHRE

THSEAH 1H A F44E3A31IH £ T

HAT - M
B H SFISHEE T HAE SR T HEAE 7= A
I FHEREHINZOHR
1. FETHILA
O SFENA
E = B &= # It A 91,980,000 92,928,000 A 948,000
% B &= # I A 640,000 640,000 0
& b I A 3 92,620,000 93,568,000 A 948,000
@ MBI
i B 4 I A 0 0 0
B F ¥ AW & I A 0 0 0
= 7t % A 0 0 0
WO & % W A 0 0 0
® ZFofhiIA
AE B E OB IT R BB A 1,800,000 2,100,000 A 300000
M 1% A 100,000 100,000 0
z o o W A F 1,900,000 2,200,000 A 300,000
HEILEINAGE(A) 94,520,000 95,768,000 A 1,248,000
2. FHEILHIH
O FHEHEIM
wmoR R oY X W 43,440,000 43,440,000 0
moOoR B A & X O 6,240,000 6,240,000 0
= i 2 53 H 1,250,000 1,400,000 A 150,000
koo B #H X MW 2,500,000 3,600,000 A 1,100,000
B OofFE E & & X W 450,000 450,000 0
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